A BADISORL
M A SNDY DE U B IISHL(SHHYSN/5Y - 55)
&l A3E & 2E Y (EEREE))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
S APl E=uEE 3,399,403 3,234,854 164,549
Jl 249,000
== 3,150,403
%:%% _—’—7?&5'_% 75 2 A5 I (sEHLL/s 1,640,062 1,369,630 270,432
Il 242,750
== 1,397,312
22E et 23 e 1,287,290 1,061,100 226,190
Jl 242,750
[ 1,044,540
et RANE UEE Jl=HeE 36,000 22,220 13,780
201 er2 3| 10,000 0 10,000
01 AtR2te|HI 10,000 0 10,000
ORUcH==2IAL 215 & &9 2AEE 10,000
202 04| 9,000 10,320 1,320
01 =LHOLI 9,000 10,320 1,320
OFEAA g g4 5,000
OIJIEAMS & DIOISF 2l SFA 0l 4,000
207 ARl 17,000 11,900 5,100
03 Al -2HI 17,000 11,900 5,100
onAl H XY S 17,000
et iz xy 635,800 495,800 140,000
201 et 3| 16,000 0 16,000
01 AtR2te|Hl 16,000 0 16,000
ONEEE =285 NSEct 280 16,000
204 Rt AH| 13,800 13,800
02 SLR3H 13,800 13,800
oulesyl 50,0002 x23F 122 13,800
206 M=l 450,000 400,000 50,000
01 MZH| 450,000 400,000 50,000
Otz 71 S 450,000
207 ARl 50,000 50,000
03 AlZ &=t 50,000 50,000
OSY & 3% 728 S 50,000
401 A2 HIRL 201 32,000 32,000
01 Al&HI 32,000 32,000
OFHARA & =FAIE HES 20,000
OtigtAte AS20J1 +=cl 4,000
OAINEZH =2l 8,000
405 AtatE = 74,000 74,000
01 TR ESFISHI 74,000 74,000
OAIIEAEINZO 74,000

- 641 -




A BADISORL
B AU TAQY D= W AR JISNL (SN /S - B5E)
el g ot RE ope (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SAE T it 2e) 129,990 119,980 10,010
202 04l 1,990 1,920 70
01 =LHAbI 1,990 1,920 70
OS2 Atz dot HR=A 1,300
OxAE SEZAL 28 S22 bl 690
206 M=H| 7,000 5,460 1,540
01 M=8l 7,000 5,460 1,540
o=z € AgXE SN 78 S 7,000
207 ARl 50,000 38,100 11,900
03 Alg 328 50,000 38,100 11,900
OxlHle & s - JIAH 2 S 50,000
401 Al HIZ 2018 35,000 25,000 10,000
01 Al&H| 35,000 25,000 10,000
sHE E=H =l 16,000
OZ Atz dot FEFH| +cl 19,000
405 KHaHE SH 36,000 49,500 213,500
01 Tt ESF=HI 36,000 49,500 213,500
a=xJ| 7Y 36,000
SIRLSEHE2IAME (FAH)(=21) 44,000 44,000 0
Jl 22,000
== 22,000
206 M=l 22,000 22,000 0
Il 11,000
< 11,000
01 M=4l 22,000 22,000 0
OtigAtz P& 22,000
Il 11,000
= 11,000
207 ARl 22,000 22,000 0
Jl 11,000
=S 11,000
03 Al 28I 22,000 22,000 0
osZ+Y 22,000
Jl 11,000
< 11,000
SIRSTHEH2IMY (XH2)(=21) 20,000 20,000 0
Jl 10,000
= 10,000
401 AIEHIZ SR OHYI 20,000 20,000 0
7l 10,000
= 10,000
01 Al&H| 20,000 20,000 0
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JE SNDY 2= U AR JISHS(SYHSAA
A g2 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 At 82.000 0 82.000
o4z 24 L Fy 82,000
SHTHI(ZIZo74) OIEIIED 1,759,341 1,865,224 105,883
6.250
1,753,001
=2 o 1,662,741 1,754,781 ~92,040
6.250
< 1,656,491
Zos oyl A 1,208,717 1,378,416 A139,699
101 eIt 1,208,717 1,378,416 A139,699
o1 5% 1,288,717 1.196.171 42,546
SIS 973,673
o=2 918,218
o1z R 252,744
52 7,375, 50021+ 128+ 122 88,506
e 6,002, 30021124 128 72,028
astel| R
3,842, 0502221 128 %.210
~epi 436,921
62 3,860,300 42+ 122 185,295
72 3,774, 4002122+ 122 9,586
2 2,506, 9002221 128 61,606
2 2,071,50581 x4+ 122 9,434
o1 (1A
3,010,47521 x4+ 122 144,508
meAAB(O
3,502, 050222 » 128 84,050
Omase 665,460,00021%1/ 12 55,455
o+g 83,865
UL ELERES
12,165, 0002144 1+ 122 5,986
OmasI 10,920
~15-201 0|9 80,00021:32» 122 2,890
~10~15 O/t 60,0002 462122 4,320
5108 0|8t 50,0002 2% 122 1,200
e 30,000845720» 122 2,520
ONN=mag 10,680
STEN 40,00021+1324» 128 6.240
SAE 3,000
5 30,00021562» 122 2,160
= 70,00021%120 122 840
SIEDIS 20,0002 62 122 1,440
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A SAD|sHRA
M HY2IHH(FA|=HR2A)(OIEHDIE
SE R IEE CERED
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
OREZ2+¢(Y3E)
40,0002 14+ 122 6,720
OExg2=g 14,760
Jl=d3EsY 4,080
= 50,0003 *1H 123 600
6~72 30,0003 x5 12& 1,800
8= 0lIat 20,0003 x7H*12& 1,680
=389 Jtaag 2,640
- J|A 30,0003 «6F =123 2,160
- AFA DAL 20,0003« 1« 128 240
=@ 82 015t
20,0003 x 1+ 12& 240
e == Bt =y 350,000&x 1+ 123 4,200
-HPARsE 80,0003 x4F 123 3,840
OAlIZt2I282+Y
145,0002 x20H 123 34,800
(OFSELF=Zala] 40,0002 x22%H + 122 36,960
OYEF It 55,455,900 x60%+23| 66,548
OHIIE &I 26,790
O EH 6,123
-52 7,375,500 *78%+86%+1/30% 13 2,144
-t 6,002, 3002 +78%+80%+*1/30% 13 1,745
9= (LerAIHl)
3,842,050 *2H +78%*86%+ 1/30+ 13! 2,234
Os=Hl 55,455,900 x86%+*1/30% 132 20,667
OXZEXH| 50,880
Od= 400,0003x 1+ 123 4,800
(@R 250,000 x 18+ 123 3,000
O6= 185,000& x4 H 122 8,880
ora 180,000 x2H 123 4,320
0892 175,000 x6H 12 12,600
OHFAZ 185,000& x4 123 8,880
OXgdz2a3d82 t2s
175,000&2F + 122 4,200
O9= (L BHADIAI)
175,000 x2H 122 4,200
IIEAt2e| 24 209,979 180,818 29,161
101 el H| 189,307 160,881 28,426
03 SRH(RINHS) 22X 2+ 189,307 160,881 28,426
OJl2= 120,653
Olds= 2,617,300 1B+ 122 31,408
onss 2,506,202 x1Hx 128 30,075
(@) 0=2= 2,465,400 2122 59,170
(OFSEFmE = 9,562,000& 9,562
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A BADISOIRL
M. HYSRAAH|(ZADI|=AHRA)(JIEHIIE
chol: ol (ol )
SN - B S(BH) - HBAY - BAS 0l &rey e HIRS2
(OPIEES={{:[E==y\})]
40,0002 %1% 122 480
OIS+ (IIEDIS)
20,0002 x38 *12& 720
OYXRIFII=Y
100,000 4 » 13! 5,200
OF M= AlH| 140,000& x4+ 122 6,720
OYEFItHI 10,054, 300& x60%*23] 12,066
OunsE| 100,000 4+ 12 4,800
oAt 2R
14,3673 x150%*4Z *15A| 2tx 12 15,517
O0f2tg 60,0003 *4H 1L+ 12& 2,880
ox2Y 50,0003 x4 123 2,400
oOsx=0la AZE 2,077,160& x4H 8,309
M A=RE2s 20,672
M Z22(2I|H) 22X BESEEHS S 20,672
O=0dHZ I REE2 S 20,672
Al 222 29 58,038
101 14| 51,998
03 BRH(RINHS) 22X 22 51,998
oJl=2z2B1ee) 2,914,600 x 15+ 12& 34,976
o&I2=+Y 34,980,000 *1/12 2,915
OdXtREF ==Y
100,000 * 1 * 13! 1,300
OFHZAH| 140,000& 19 =128 1,680
OYEFItHI 2,914,600 x60%*23| 3,498
OuSH| 100,000& 15 *12& 1,200
SNEIE LR
16,5003 * 150%* 1 *10A| 2t+ 12 2,970
O0f2t==g 60,0003 x1H x 12 720
oxRY 50,0002 x 15+ 12 600
oOsx=0la AZE 2,138,428 x1H 2,139
M HAIRE3S 6,040
M BRA(RINHL) 22X BE8E22H=2 S 6,040
Oo=0IdZ I B2 S 6,040
2IEF22 29 99,362
101 Q14| 89,674
03 SR (LI HS) 222+ 89,674
oJl=23 57,554
Olss 2,617,300 18+ 12& 31,408
@rk=1= 2,178,800 x1H*12& 26,146
o8=2Y 36,120,000&%1/12 3,010
oiEsY 1,560
OB Xt 40,0003 x1H* 123 480
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